Combined Graduate Level Examination 2021 Tier - |

Roll Number

Candidate Name

\Venue Name

Exam Date 11/04/2022

Exam Time 12:30 PM - 1:30 PM
Subject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q.1 f3u 7 FitwRur B Hgferd w1 & e for S1 3iet &1 3 & Sgar W 91fee?
384+16-72+9x10=2
Ans X 1.43R8
X 2.63R9
W 3.73R9
X 4.33R7

Question ID : 65497844399
Status : Answered
Chosen Option : 3

Q.2 3R F I WA BT 997 B ot - &t 1S ofgen F feaa w # Bl S A @
WM W 8 4@ B guf Bl

_LH__U_H__U_H_NU__EN
Ans X 1.E,UNLN,ELEH,L
X 2.UEN,LE,LHLEH
X 3. UELENNLHNE
4 UENLENLELH

Question ID : 65497844596
Status : Answered
Chosen Option : 4




Q.3 AT TE By 3R Frepul @) wFyd® U1 98 A 8Y 6 Syt § ) 1 et a9 @,
U B T8 TR U A 7 a8t J Fid weila gt 81, aa 3% fu e et § ¥ B
A e ST &1 A U STER Hed B

?ﬁ?ﬁmﬁ!ﬂmﬂﬁ%l
g dlar, g 718l 31
Tt arer, 9@ B

e, e B
S e, S T8
.Y T, fer a8 21

Ans 1. 9t Freef SR Rd ©
X 2. %aq s | SR 11 SRR IR §
X 3. Had s 11 SR 1l STER0T v §
X 4. Faq fep | 3R 111 SRR R §

Question ID : 65497843484
Status : Answered
Chosen Option : 1

Q4 R aw Jerel & ¥ 37 AP F 94 FT S G g@er F wAaEs e (2) F T 93w
T gl

I

Ans

p

AHEEF

Question ID : 65497844402
Status : Answered
Chosen Option : 1




Qs %ﬂéﬁﬂﬁﬁﬁﬁﬁwgﬁqa‘rm it & werare g (2) F RMWR 3
I

16, 33, 100, 401, ?
Ans ./ 1.2006
X 2.1588
X 3.804
X 4.1235

Question ID : 65497843486
Status : Answered
Chosen Option : 1

Qs 39 faFeT 1 T B A & TS AP WieAed ¢ (AW B IGAT el )

1. -
x I/

Ans

2. |

P

Iy

X 3.

Question ID : 65497843091
Status : Answered
Chosen Option : 2




Q7 v & aew & @ AT @ o § ger @ W ag A e fgem?

7 | “he D

6 4 38‘

Ans

X1

X2

X< 3.

A

Question ID : 65497841977
Status : Answered
Chosen Option : 4




Q.8 TR 3R-THE Ry e & R & fiv fredt = fbeft ave @ 7w € ok vo sRiTa 21 99
ST &R-TYE HT TG B |
Ans X 1.LOSXD
7 2.ZCGLS
X 3.NQUZF

X 4. FIMRX

Question ID : 65497843072
Status : Answered
Chosen Option : 2

Q.9 uIftre, 3T 31 Uit € Rt zndl Fifdrar @ g€ 21 7Ren, i1 &1 9 & et @
Jfei g AfeT g AT 76 21 AW, HUA B YT 3N e &1 H1S 81 39 8k
g7ag e & qrmre €1 aaa o rdt it A gS § ofk Sl &l afedt ok U Ser gl
33U 1 TP 9e1 3R Teh 31 21 1 3 Ry, it ot afeai €1 qreht aifdarfea 21
it o1 Wga @ w1 Gay 82

Ans 1 ARf
Xo2.H|
X 3.9
X 4.98

Question ID : 65497844391
Status : Not Answered
Chosen Option : --

Q.10 TP TER Ui BT YoiT 12 m B 1 S ureh & =RY 3% 24 m YT aTel TP @il it
TN SITe €, o i Afed urd &1 $af &wd fohd=n grm?

Ans X" 1. 144 m?
7 2.576 m?
X 3.324 m?
X 4.288m?2

Question ID : 65497843589
Status : Answered
Chosen Option : 3

Q.11 wagﬁmmmﬁﬁﬁ%ﬁqwﬁﬁﬁﬁwmsﬁ?ammﬁm@m
HRargl

1. TRfb=

2. g @d

3.

4, fa=meera wgen
5. Uqg

Ans X 1.1,5,4,23
W 2.1,5,4,3,2
X 3.1,53,24
X 4.4,51,3,2

Question ID : 65497842768
Status : Answered
Chosen Option : 2




Q.12 fift ff3a e uTar & MONEY %Y PRQHB & =4 # forar wirar 81 3wt ge wror &
CREDIT %! forer & & forar wrgme

Ans X 1. FUHGWL
7 2. FUHGLW
X 3. FUGHLW
X 4. FHGULW

Question ID : 65497844593
Status : Answered
Chosen Option : 2

Q13 77 oo @ fmifss BT % 39N 'PQ T W@ I @ 79 R v @oes @ gvor # BT v
qiafes Tafag &3l
P
%OVeRtHRoW&L

e R WoSSHI STV O
K2 3 WOSHISIeV 040
K3 0QPOACKIHEOME
KepWosdHIsIeV 0ol

Question ID : 65497844405
Status : Answered
Chosen Option : 1

Q.14 ﬁmﬂ%ﬁﬁwmm@mamﬁeﬁv%q&%ﬁﬁw#@mmﬁ%ﬁ
=99 vy g (7) S T W) 31 Pl g

713174
925104
11307

Ans X 1.100
X 2.335
X 3.129
4. 431

Question ID : 65497843085
Status : Not Answered
Chosen Option : --

Q.15 U fAf3d Be HTT §, 'RAKHI' BT 36-2-22-16-18 3R 'SHALU' BT 38-16-2-24-42 & =Y &
Peds [ar o 31 3 He uT &, 'MANJU' B 5 =0 & geas far wmem?

Ans 7 1.26-2-28-20-42
X 2.26-1-14-20-42
X 3.13-2-14-10-24
X 4.13-2-28-10-24

Question ID : 65497841964
Status : Answered
Chosen Option : 1




Q.16 Tiw safd e iRy & IR fa=m Pt 8k i@ giex 38 &1 3H1 8R R 3 < aaferal o

Y U AT § 3R g IRUTN ¥ | TP guan AR U gfou afad & S e wa
#3318 | TP PHSIR Afad TP SeHE! afed & i a1¢ Sired # 337 8 | §fGH aafe,
St ok gad afddl & St o A do1 81 Fmfifea ¥ @ o9 W afa S H se182

Ans X 1. gfgHM
/2. 58l
X 3. PR
X 4. SfeHh

Question ID : 65497844392
Status : Answered

Chosen Option : 2

Q.17 o afiexu o Ggia o= ¥ Rie 5 3 Senel o smuw § ok f5a @ Rg
B ST H Faa ST A1fee?
24+16-96+48 x 12=195
Ans X 1.24 3R 48, x 3R =
X 2.24 3R 16, - 3R +
7 3.12 3R 16, x 3R +
< 4.12 3R 48, x 3R +

Question ID : 65497843491
Status : Answered

Chosen Option : 3

Q.18 I faered @1 TG DY W iRt F& 4 3] PR et @ 5 ver gad) I@ gt
= A H&la g1
23:441::28:7?
Ans ./ 1.676
X 2.494
X 3.692
X 4.528

Question ID : 65497841972
Status : Answered

Chosen Option : 1

Q.19 I fdpey o1 T84 $Y ol TR ug A I ypR Gaftid & Ry ToR gOvT U8 Uga ug @
Haftra 21
PATELS : BQFUTM :: NECTAR : ?
Ans 7 1. FOUDSB
X 2. FObUSz
5 3.FOVDBS
X 4. OEUDQB

Status : Answered
Chosen Option : 1

Question ID : 65497843578




Q.20 E%q%ﬁam’fﬁﬁagﬁwgﬁqﬁm Soft § usyarae e (7) WA W 8N
I

10, 14, 31, 35,73, 77, ?
Ans X 1.90
7 2. 157
&< 3.154
X 4.81

Question ID : 65497843081
Status : Answered
Chosen Option : 4




Q.21 mmﬁﬁm#wﬁﬁmﬁwm(miﬁ)a:ﬁ'n'rm‘é:s,ﬁtg?@ma‘r
Freer & i (st i &) a&ﬁé’vrébmﬁwqa:rmaﬁmm%ﬁr(ii)a:gagvm@m

Ans

et e &

@ (i)

X1

o

O O
A 0N
&0
VAR,
S N
IR,
VAR,
| NO N
SN
QO O
o NO N
S O

Question ID : 65497841982
Status : Answered
Chosen Option : 2




Q22w & o & IR -y FEET REg ¢ S o v W1 # 6 aw H ve R i
£ 37 dmr @ 99 & S & ' T Bl & QI arer Bl 9T geiT|

DO0E

X2 4
/3 3
X4 5

Question ID : 65497843494
Status : Answered
Chosen Option : 3

Q.23 uw fAf3d Be UTAT &, *her father is okay’ BT 6583 % U T Feds fbaT IT 8, 'my father
is well' B 5137 & U ¥ Heds fhar 74T § 31X ‘her arm is injured’ FI 2839 & FU A He

fopar a1 @1 S Be uToT H, ‘okay' & 1T fo g &1 T fban s
Ans 1.6
X 25
X 3.8
X 4.3

Question ID : 65497843076
Status : Answered
Chosen Option : 1

Q.24 frs 3w @ &, vewr qow AwRET S geier §, S e S g §, ged Afgent @
i & it o smfEt # oeier &1 & S FEw 5w R Soh § cofraat $r gem @ cer F

et sl g siftet Fa §, afw afre a8 82
Ans X 1. 1Q

X2 8

X313

4 11

Question ID : 65497843599
Status : Answered
Chosen Option : 4




Q.25 ﬁqwgﬁwﬁﬁﬁw SER-THE BT I B off T g & wsifeg (?) & R W a1
qpar gl

KYBA, FTEE, AOHI, VJKO, ?, LZQA
Ans X 1.PFNU
X 2.QEMI
/3. QENU
X 4. QDNI

Question ID : 65497843474
Status : Answered
Chosen Option : 3

Section : General Awareness

Q1 Tt Frafifla § § few 76 &) geme 78 22
Ans /1.9W]

X 2.7

X 3. Marad

K 4T

Question ID : 65497844419
Status : Answered
Chosen Option : 3

Q.2 3R STe ITAR Bl URHAT B GG SUHR el Il g
Ans X 1.9 Sg

X 2. Sitarg

K 3.7guP

7 4. Gids

Question ID : 65497843608
Status : Answered
Chosen Option : 4

Q.3 asl 1931 # HeTe M B oid § Rers & a1, FU Aarsi 7 4fasy it wears o1
Ao FRE__ A gaea ot
Ans X 1. 3d
2 NINEIC
X 3.7ER
X 4. Hadl

Question ID : 65497842000
Status : Answered
Chosen Option : 4




Q.4 2011 Pt T F SFHTTH TGS I F SFAR, HRA H S DI $d aTd S Rie &
yrftor STer SRS BT wfasrd R 82

Ans X 1.5523%
X 2.62.45%
X 3.79.03%
7 4.74.05%

Question ID : 65497843108
Status : Answered
Chosen Option : 4

Q5 ICHGIAE____ P UH URieR o Faardt €1
Ans X 1. wiidifar

X 2. 3es fren

X 3. sfegferan

7 4. e oY SR

Question ID : 65497843522
Status : Answered
Chosen Option : 2

Q.6 g STI®R AMIFaT 1956 F AR, 31 aefiaa @R o1 areh fig afgen ot wufr w
wed ARPR Fra d | fhae gar g2

Ans X 1. 39 AU
X 2. 39% Ufd & BILA Ay
.JS.WU%
X 4. 39 Ul & I aiky

Question ID : 65497842004
Status : Answered
Chosen Option : 2

Q.7 Y WY SrACTaT T TR ST (PM-AASHA) & UTH ¢ Sl IWPRI B
IUS P BIAd 3N ST > g i, YsRor § sryeay Sk Rdma &) o8 o iR sl
ATH UM & TIT ThEd aRei $34 g

Ans X 1@
7 2.
X 3.U
X 4.6

Question ID : 65497844412
Status : Answered
Chosen Option : 3




Q.8 gRY Ihexant Arag FafufEa & & #= ar wiita = o wwa 32
Ans \/‘1.?1qu%1:[

X 2. "M

X 3. AeERA

X 4.9n

Question ID : 65497843095
Status : Answered
Chosen Option : 3

Q.9 I@I (chordates) WY ¥ w4l & Jay ¥ FrafifEd & § $19 T $y7 T8 82
Ans X 1. 378 UY a7 UP oIRGBt §

7 2. S UG o] YT I §

X 3. 3 fg3eda S dfienT g ura ST §

X 4. 379 gea gsha ar urd U & Ryd a1 oufRyd giar §

Question ID : 65497843101
Status : Answered
Chosen Option : 4

Q.10 HRast 2021 §, R & fag wft = TP B B AT AW SR I B faaried
3T T FHReIaeit ¥ g T faare wwme afifa (DRe) St T Y givon #

Ans . 1.350 @G, 310 ARG
X 2.320 99, 35 ARG
X 3.%10 919, 32 91
X 4.35719, 31 A9

Question ID : 65497841986
Status : Answered
Chosen Option : 2

Q.11 frafaa & & 7 Asha Y (bad lands) BT TH GBI FRIT 872
Ans X 1. 3{cq gy

X 2. A aE

X 3. SIS R

7 4. Ta] 3R

Question ID : 65497843511
Status : Answered
Chosen Option : 4




Q.12 YR BT A9 ATRT (ECI) 31 & Taai S Freaer gATal &1 wedt § 3R wRda difaeu™ &
_ U3q OIS Saft e @i §
Ans X 1. 3{T%5¢ 101
X 2. 3[T=9G 356
3. 3TwE 324
X 4. 356 352

Question ID : 65497844429
Status : Answered
Chosen Option : 3

Q.13 Ugiferam @ Hivfg frafafaa & § 19 a1 9iffie siaie® gg- Sol ok ReTgaial & o
et & S BT BT 97 Fehar 872
Ans X 1. difggH
K 2. iR
X 3. Sferrmw

4. TR

Question ID : 65497844417
Status : Answered
Chosen Option : 2

Q.14 =qraff B 24 30T 2021 |/ R F Hate ArTerd ST g arndi= frga
|

Ans X 1. PieRid fyg S
X 2. IR gUY IS
7 3. Jyauld debe 3o
X 4. SIHERT QT S

Question ID : 65497842002
Status : Answered
Chosen Option : 3

Q.15 T fRYT WA 3w & ufad Iua # Aeridaad IId AT Sl 21
Ans X 1. 3{iY UG

X 2. ddH
X 3. Flcd
4 B

Question ID : 65497843500
Status : Answered
Chosen Option : 4




Q.16 gd YR Peard S gt 931 7 2021 § Fufafaad § € few v & forg Qe
Ans X 1. IO U

X 2. 7t s

X 3. TmH Mar

4. ST Tl

Question ID : 65497843624
Status : Answered
Chosen Option : 2

Q.17 CH3CH,OH T a1 THfTeh T A1 =T &2
Ans X 1. Uffesd TRie

7 2. O

X 3. TIRIGH

X 49949

Question ID : 65497843610
Status : Answered
Chosen Option : 3

Q.18 JydAg QUE) BT TUE B
Ans X 1.5

X210

X 3.15
4. 20

Question ID : 65497843109
Status : Answered
Chosen Option : 2

Q.19 YRA P doic A Faftd THmEdt (NIP), B fewaw 2019 # YRd & Feita fomr vt gy
Hifr foar T o1, 19Ul =9 @1 82

Ans X 1. 9= Sf&oHY UIeige. (National Indigenous Project)
X2 ﬁﬁmmmmegotiable Instrument Protocol)
2 3. IS A 319 UHSH (Neutral Interventions on Payments)
o 4. R4 éwlv&gdﬂ{ qrgudig (National Infrastructure Pipeline)

Question ID : 65497843603
Status : Answered
Chosen Option : 4

Q.20 IR FT IS Tefie T 32
Ans X 1. Ac

2. As

X 3. An

X 4. Ar

Question ID : 65497843504
Status : Answered
Chosen Option : 2




Q.21 uiadl ¢ sA-fafewr wa 3 gfear gws & dwe B 82
Ans X 1. U s¥e

X 2. AR R

7 3. QIIMTS ARl

X 4. SR AR

Question ID : 65497843619
Status : Answered
Chosen Option : 3

Q.22 RS MR W F AR g, 2021 ot fy FufRa dd s
Ans X 1. tifedl & forg foRmaa (Heritage for Generations)
7/ 2. 9fed orfia: fafdeied Hid™ (Complex Pasts: Diverse Futures)

2K 3. T TP, e fRId iR W forier (Shared Culture, Shared Heritage and
Shared Responsibility)

X 4. T RISTHIAAT (Rural Landscapes)

Question ID : 65497844425
Status : Answered
Chosen Option : 3

Q.23 wfaur gyt & Heof &, Frafafea ¥ § o9 ar v adt 82
Ans /1. ST 1950 B TG FHT T IYH D1 SR febar

2K 2. AU 9UT A 1S 1947 & URA B ATHSA DI Foad1 I giY Bl |
< 3. SR 1948 H TiauME 9T = P 1d BT SR faar|
X 4. T TUT 7 S[ATS 1949 F AT &0 B ST

Question ID : 65497843117
Status : Answered
Chosen Option : 2

Q.24 3% F Vg & TEHE (nut) Ft T HET ST 82
Ans X 1. RTGSd (Chestnut)

/ 2. 9¢d PT % (Acorn)

2 3. DI C (Kola nut)

XK 4. ABTSTHAT (Macadamia)

Question ID : 65497841991
Status : Answered
Chosen Option : 4




Q.25 fogferfEa # § Fi9 T ol uHs 1 IUa=T AT, foraeT IuET Ui HRd # 9=
IR MBI F WY ATIR F31 F Y U s & =0 § fosam wmar 412

Ans 71 3R$Ug
X 2. qd
X 3. gageE
X 4. SeE

Question ID : 65497843514
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1 gfr (dx+29)% + (4x — 2y)% = 16(Ax® + Bxy?), ar L(VAT+B7) A a2
Ans X1, 7

X2 8

X33

4. B

Question ID : 65497844445
Status : Answered
Chosen Option : 4

Q.2 o F/ gger 275 km, 50 kmvh #T 3T el & IEr & 3R 37 315 km, 70 kmvh i siwa e @
Teer &) i e & e iwe 9 (km/h #) = E?

Ans X 1. B2
X2 B0
3. 59
X4 585

Question ID : 65497842019
Status : Answered
Chosen Option : 4

Q3 843 sin 30° tan 60°- 3 cos 0°+ 3 sin?45° + 2 cos? 30° & HT AT F
Ans J112

X2 15

318

X4 9

Question ID : 65497844452
Status : Answered
Chosen Option : 1




Q4 ﬂﬁ'cos(A—B)="T§ A secA=2,0°=4<90°0°< B <90° &, @ B & T F1 &7

Ans K 1. 00
X2 60°
~/3.30°
X 4.90°

Question ID : 65497842027
Status : Answered
Chosen Option : 2

Q.5 =7 afr ¥ 75 FEw A S, TE 108, 124 3 156 @ Renfea &= W AW AT w©E @
gl

Ans X1, 12

X218

/3. 16

K 4. 10

Question ID : 65497843626
Status : Answered
Chosen Option : 3

Q.6

ATl =0T &7 AT ATd ST
080+-35x164+4—-2x2

Ans
x1 10

2
X 2. 556
xs !

4

/4. 448

Question ID : 65497843627
Status : Answered
Chosen Option : 4




Q7 oy orar R v ey st st i S Wi (2 &) Fraaiard

TR F7 HeTaeT 1 31T 50% a1 BT 77 W9 &7 3eal &I

At B opnr A Ay sl e Ee
aifadA+ (2 W) @il aren rEdan

T

W 121 .m0 s 1w (TR .03 naon

i (3 3)

2180 & Sfover WA TR Tret aTel ST T HEar. 2190 W 31w e wiiosties aa arer sifien! r dear & feaer
wfarera 7 ZUAET ¥ U oF G HE oAt AT

Ans X1. 85.6%
V2. 74.8%
<3 75.8%
X4 86.7%

Question ID : 65497843144
Status : Answered
Chosen Option : 3

Q.8 ww e #r wars T T F FHA 8% F FEEA AT 10% Fr FAT A TS T TEE ATFAT H
wfaerd gie o Fr i v W

AN X1 1.8% Fr gfa
K2 1.8% T FAr
/3 2.8% FH HAT
K4 2.8% H gy

Question ID : 65497844642
Status : Answered
Chosen Option : 3




Q.9 frwifed aX o 2014 ¥ 2018 @ A 3T B 9o & Frt (X Pfema i) ¥ e # aeiar 31 aw

F FTTT FT IR ITTH I BT TC T F7 I &)
2014 ¥ 2018 @w =rew A 3t B T s #) & w1t & =)

LI ¥

2014 ¥ 2017 # B o & i &1 Fo fdie, 2015 § 2018 F A ¥oW &1 F & T fodiey &
raar wiaee #f0w &2 (@HeT & UF T % wan)

5.6%
X2 72%
X3 4.9%
X4 8.5%

Ans Al

Question ID : 65497842838

Status : Answered

Chosen Option : 1

Q10 GFraiferg o W% F HeUAF FTAT 3T 3§F ag BT 90 woF @ Fea? Sl
T TE 2014 F 2018 &F A 3T B 5o fr 1t & g (2 Pfeww @) #r aufar 2

o4 @s

335

30 s 2

2%
00
I:f‘l l
2015
T9

ko

300
75
013

1
257

At &7 ar
Ans 1. 2014

<2.2015
#3.2016
<4 2017

w a8 & A vaR & F1 A, i a6 F B wee & sR ¥ g Bt (ofy 79) ¥ 55

Question ID : 65497844151

Status : Answered

Chosen Option : 1




Ans X 1. 4‘\}@
S2 443
X 3.3+/2
X4 345

an Wwﬁﬁﬁﬁ'uﬁé(cmﬁ)wﬁmm%m#ﬁé8cmﬁ?

Question ID : 65497842025
Status : Answered

Chosen Option : 2

1,08,000 T

(z &) sfowE?

Ans 11,500
X2 1,800
<3 1,200
x4 1,350

Education

Q12 Frrwifera o a¢ F o 9fER & BT At T @ e A w5 geivr v §( 9RER &% Aee

Rafer (misc) W @ a7 e, @At Ay R (children education) W @ T 1T s & fraar

Tafiven 7} W A AT wT

I Children
70

Question ID : 65497843647
Status : Answered
Chosen Option : 1

AmS 1. 3576
X 2. 3640
X 3. 2625
X 4. 2540

Q13 forelr s &1 2832 & dva X 3T o, 3W IR W W48 F AW W §E @ F W ¥ IR 78
Fr 10% @ 9 30 e § O SHA 19T Hed T gem?

Question ID : 65497844439
Status : Answered

Chosen Option : 1




M oHRRT e F A5 919 ST

(a? — 4062)° + 64(H% — 4¢2)° 4+ (16¢% — a?)?
(a—25) +(2b—4¢)? + (d¢c — a)?
Ans X1 d(a+ 20 (b + 2¢)(dc+ a)
X2 —(a+20)(b+2c)(dc+ a)
3 2(a+2b)(h+ 2c)(dc+a)
X4 (a+2b)(b+2c)(dc+ a)

Question ID : 65497842022
Status : Answered
Chosen Option : 4

Q.15 e frre TF & T8 10 3 # & I Faa 7.2 W 2721?#3&-’&3%@#%%40%
# ea @ e Fa g wige?

Ans X 1. 7
X2 4
X3 6
-5

4

Question ID : 65497844133
Status : Answered
Chosen Option : 4

Q16 o s garr 3t v SeEheR BN THGE ST TR ST SRR RvT § R g & o @ w3 R w

ST FN0T 60° TUT HAR F el ol HTAAF FI07 30° | AL HAR FT S 76 m g, AT A Famg (n 7)
T ST

e X1 193
X2 57
319
K4 38

Question ID : 65497843645
Status : Answered
Chosen Option : 3




Q17 500 % 650 @ (e wEATIE W gU) W fee wea § S 3 AR 7 e @
s =& €2

Ans 1. 87

<2121

X3 21

<4 99

Question ID : 65497843524
Status : Answered
Chosen Option : 1

Q18 Twgfe s W AU A T TR 3T A Toa R 27,800 3T 5 T9T H Sow s 211,232
21 9iaea s aX A ST

Ans 1. 20%
X2 15%
X3 18%
x4 26%

Question ID : 65497843128
Status : Answered
Chosen Option : 3

Q.19 o FEieR dga & IRT 3 TR A dwE 4.5 m ¥ 3 sEE S 105.75 m2 ¥ 2100 Sy A
T T TES W G135 T T 0T AT e

Ans X 1. 2275
A2.3400
<3.3600
v 4. 3550

Question ID : 65497844141
Status : Answered
Chosen Option : 4

Q.20 23 m s @, U T, ST ¥ wF A g @ W6 m I Roud § A GG B
T F UG FOFAW f6g W WA O TN F g0 AR 4V1E m I e Ed aw ogae %
e gamn st §1 wew A St (m #) e @2

Ans 1, 35
X2 22
/3 39
X417

Question ID : 65497844450
Status : Answered
Chosen Option : 2




Q.21 &% O =19 v 3 #, ShaW PR AR QS, 37 9w o W Rig T W ek § el PQ g W e
¥ afy LROS = 42° ¥, & LPTQ & A fraar §72

Ans x4 GQo
X2 48°
3. 590
X4 5g°

Question ID : 65497843539
Status : Answered
Chosen Option : 4

Q.22 v st urg 7 40% =W, 30% diar AT 30% TRee B1 25 kg s urg # S =il (kg F) Al
& Il afge afr v & urg & 50% i @ e

Ans 45
X2 20
K312
K410

Question ID : 65497843529
Status : Answered
Chosen Option : 4

Q.23 X VY it Z e s & w46 R, 92 R o 23 R # qu wv wa § X F =\ g% T Y,
2 R & 9 3u& @1y S5 @ R Z 9T ¥ 8 Rl & & sy Jear v, @ X 7 few R

T FIA fRAT?
Ans v 1.18
X216
X3 21
X4 13

Question ID : 65497844442
Status : Answered
Chosen Option : 2

Q.24 A B T C & TP i T cweET oF BT OF H, A F 229,000 1 fder fRan, swafF B Aiw C,
Sede & 225,000 & Raer fFam 4w a1, A 7 23,000 fawe vl 2@ 2 #E g, C ¥ 212,000
3 fder o) 99 ¥ 3T F 133,200 F T A G C (2 H) 7 TT AT Hiraw)

Ans % 1.11,0687
212,400
X'3.10,000

410,800

Question ID : 65497842016
Status : Answered

Chosen Option : 4




Q.25 20 cm = T T e w7 B O FI T e ¥ O Tovw v Rig & st TA g B w9 W@
Iy OT = 26 cm &, G FTRRGET TA & was (cm &) frae 82

Ans 1 g
X2 28
X318
X420

Question ID : 65497843134
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The first meeting of the Standing Committee will be hold next week.

Ans X 1. No substitution required
« 2. will be held next week
25 3. will be holding next week
25 4. will held next week

Question ID : 65497843562
Status : Answered
Chosen Option : 2

Q.2 Select the INCORRECTLY spelt word.
Ans X 1.Retrieve

X 2. Return
X 3. Retort
</ 4. Revange

Question ID : 65497842058
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the given word.
Tenacious
Ans X 1.Relentless
/X 2. Persistent
</ 3. Yielding
X 4. Steadfast

Question ID : 65497843164
Status : Answered
Chosen Option : 3




Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Do you / recall to meet / her at the party / last night?
Ans X 1. last night

/% 2. Do you

</ 3. recall to meet

& 4. her at the party

Question ID : 65497843148
Status : Answered
Chosen Option : 2

Q.5 Select the option that expresses the given sentence in passive voice.

Give the child a nourishing diet.
Ans X 1. The child is given a nourishing diet.

25 2. The child must have given a nourishing diet.
« 3. The child should be given a nourishing diet.
< 4. The child was given a nourishing diet.

Question ID : 65497842039
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word.

Taciturn
Ans X 1. Verbose

</ 2. Reserved
25 3. Lively
25 4. Noisy

Question ID : 65497842051
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Of the two plans submitted by the architect, this is the one more likely to be
accepted.

Ans X 1. most likely
25 2. most likelihood
</ 3. No substitution required
& 4. much likely

Question ID : 65497843664
Status : Answered
Chosen Option : 3




Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He allowed / his son to drive / but he warn him / of the danger.
Ans X 1. his son to drive

5 2. of the danger
«/ 3. but he warn him
X 4. He allowed

Question ID : 65497842036
Status : Answered
Chosen Option : 2

Q.9 Select the correct indirect speech form of the given sentence.

Mother said, “I’m worried about your safety.”
Ans X 1. Mother said she is worried about your safety.

25 2. Mother told me that she had been worried about my safety.
X 3. Mother said that | was worrying about your safety.

</ 4. Mother told me that she was worried about my safety.

Question ID : 65497843157
Status : Answered
Chosen Option : 4

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. They can help you to decide the right products for you.

B. Advertisements can be extremely useful if they are honest.

C. Teenagers are especially vulnerable to such advertisements.

D. However, some advertisements may be harmful as they try to befool you.

Ans X 1.BCAD
/ 2. BADC
X 3.CDAB
X 4.CADB

Question ID : 65497843665
Status : Answered
Chosen Option : 1

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Did you baked / the chocolate cake / yourself this time?
Ans X 1. yourself this time

X 2. No error
«/ 3. Did you baked
X 4. the chocolate cake

Question ID : 65497844459
Status : Answered
Chosen Option : 1




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

Walk or move at a slow, relaxed pace
Ans X 1. Strut

/ 2. Amble

25 3. Romp

& 4. Prance

Question ID : 65497844481
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate synonym of the given word.
Vertical

Ans 7 1. Upright

X 2. Parallel

X 3.Equal

X 4. Shaky

Question ID : 65497843666
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate meaning of the given idiom.
Cake walk

Ans X 1. Something tasty

X 2. Something sweet

</ 3. Something easy

< 4. Something enjoyable

Question ID : 65497843569
Status : Answered
Chosen Option : 3

Q.15 Select the option that gives the most appropriate meaning of the underlined idiom.

The Chairman of our company takes care of the rank and file in the company.
Ans 7 1. Ordinary people
/5 2. Documents and files
25 3. Only the top rank people
X 4. Officers

Question ID : 65497843166
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate option to fill in the blank.

Global warming or climate change has today become amajor_______ to mankind.
Ans /1. threat

X 2. penalty

5 3. punishment

25 4. endanger

Question ID : 65497844483
Status : Answered
Chosen Option : 1

Q.17 Select the option that expresses the given sentence in passive voice.
She gifted me a beautiful handbag.
Ans X 1.|am being gifted a beautiful handbag by her.
5 2.1 have been gifted a beautiful handbag by her.
</ 3. | was gifted a beautiful handbag by her.
X 4.1 am gifted a beautiful handbag by her.

Question ID : 65497843654
Status : Answered
Chosen Option : 3

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

One who supervises students in an examination hall

Ans X 1. Inspector
X 2. Examinee
</ 3. Invigilator
X 4. Teacher

Question ID : 656497842056
Status : Answered
Chosen Option : 3

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

We stayed / in Jim’s flat / during he was / on holiday.
Ans X 1.inJim’s flat
< 2. on holiday
< 3. We stayed
/ 4. during he was

Question ID : 65497842742
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate ANTONYM of the given word.

ROUGH
Ans 7 1. Smooth

X 2. Coarse
X 3. Thick
X 4. Crude

Question ID : 65497843567
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1. maximising

</ 2. minimising
X 3.increasing
/% 4. emphasising

Question ID : 65497844465
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.low

</ 2. alarming
X 3. capacious
25 4. soothing

Question ID : 65497844466
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.creed

/2. fraternity
< 3. persons
X 4.class

Question ID : 65497844467
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 7 1.requires

X 2. finds
X 3. gains
X 4. loses

Question ID : 65497844468
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

The importance of physical exercise in (1) the incidence of heart attacks cannot be
under estimated. The rise of heart attacks has been attaining (2) proportion in recent
times causing grave concern specially to the medical (3) . Walking is the best mode of
physical exercise which (4) no equipment, money, material or (5) of a club.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans .7 1. membership

X 2. exemption
% 3. scholarship

X 4. correlation

Question ID : 65497844469
Status : Answered
Chosen Option : 1







